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Sl. No.1
QBID:1555041

Choose the correct form of verb to fill n the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know
fEdden-w ol o= 982 2
1 T

(2) ¥

3) ¥

(4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

e €1 By feg o
YT ] : TG YT BT UG B & W Byl Yig O7 O S o S & |
PYTI ] T & Ue I AR W T F - T 6 YR U, TS & YR 9K U7 of F YR W |

SUIE $YT & A |, 419 f2U 7 fawed! ¥ § 999 IugeE ST 31 904 Shas
(1) Hu ] SR 11 S w8 &

(2) ®vF ] R I &4 Taa 8

(3) T TR AFT T I T @

(4) TF]TEEE AfEA B I T

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) impromptu

(2) mprounptn

(3) impromputue

(4) inproptune

SEulE @1 fauH Ta1sy |

1) s




(@) =i
(3) W=E

(4) sEa=

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me. "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |
R d s oI T ol S R I s 2 |
(1)

(2) &

(3) g

(4) =i

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontansous

S. feelings - emotions

(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

S BT FEAFTS B G WD B 7
(1) f&Eam

(2) @

(3) §<

4

1[Option ID=31281]
2[Option ID=31282]
3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of "strength’

(1) meeckness

(2) revenge

(3) frailty

(4) =nergy

I ol F TH &1 B UF W P A @ 7
(1) SHAH




(2) Ty
(3) WOy

(4) =dq

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.
(1) He had not left. we would have been forced to evict him

(2) Hadn't he left we would have been forced to eviet hum.
(3) Had he not left. we would have been forced to evict huim

(4) He not had left. we would have been forced to evict him.
Sriferal W FEET HErak @1 96l s s A g 7

(1) oyEmE &

(2) =R &

(3) TEm H &

(4) YU S

1[Option ID=31289]
2[Option ID=31290]
3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have eaten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had ecaten the cake.

(4) The cake might have been eaten by him.
i # § 9E 97 &1 9099 i |

1) ==f 9 FY 79 T4 |

(2) == W HiY 79 B |

(3) == 9 %l B F |

(4) ==l 9§ %1y =81 S |

1[Option ID=31293]
2[Option ID=31294]
3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - 'captivating'.
(1) disappointing

(2) frightening

(3) fascinating

(4) frank

ffafes § & aom weg T8 T |

1) &4

(2) 5g&

(3) Fsw

(a) FER

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]




Sl. No.10
QBID:15550410

Identify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective
eI s e s g A8 2

(1) B H i st &1 e Sl & sE e g
(2) faduii § wRrey 50 | R, 59 IR FRS S ¢ |
(3) fosiuuii & qer =R 92 By T |

(4) SEITYE =N & 31 9e § - 99 SR 3 |

1[Option ID=31205]
2[Option ID=31206]
3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

78 U B YR WPR F U 520 e qamesr @30 & 308 e gu e
(1) & [T AFIYA

(2) %0 FHARRE

(3) faog =i

(4) Ffdias S

1[Option ID=31209]

2[Option ID=31210]

3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies. which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the correct answer from the options given below :
(1) A. BandD only

(2) Cand D only

3) A, CandD only

(4) B. C and D only




FrafifEa =m-h sufE 3 g 6t & 7 7 adste e Sums Sutal wifta £1 2 B8 gy Faiw 6 31 e s % aean 3 wftg o mn
ur ?

A. 999 st fafies

B. g afm gitsyl fafbcs

C. 79 SfEm feffes

D. wizsd sosm fafies

i feu T fowedi ¥ § w99 Suge 9Tk #1907 S
(1) FTTA, B3R D

(2) F@aC IARD

(3) FAWA, C IR D

(4) F@B.CIRD

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian

FHW 3 B HEHUT BT 15 &

(1) 7 =/

(2) tRF e 2uyg

(3) &9 ok BER

(4) SiEEEEE! e o= $feaa
1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414
A small organ at the base of the brain that produces substances that affect growth and sexuval development (hormones) is called :

(1) Pituitary Gland
(2) Hypothalamus
(3) Pineal gland

(4) Adrenals
AT & SMyR & G 1% Y 3 59 TeR & e B 3Ed Sl & 9 g9 giE SR dWe f[AET @) $1 9HIed $3al &, 98 1 Seendl &

A, foegeh ofy
B. sdideaT
C. difga 9y
D. ugHd

At fou e fEeedi § 9 9a9 3ugad I &1 994 B
(1) FTAA, B SR D

(2) FFTAIRC

(3) FTT A, BIRD

(4) FTTASRD

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15




QBID:15550415
Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

i & | < H90 R W[ S Ol uE JRa S g 2
(1) Tl

(2) Tivgan uw

(3) smfEgs s

(4) it Toed #

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hu" means "we great Indian country’,
"oi ka la ju" means "we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country".

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

U 48y Fe Hw A

"uo ja ka hu" &1 2 § 'we great Indian country',
"oi ka la ju" &1 21 8 'we score good highest'.

"la fu ja ju" 1 3*f § "India score the highest"

3R "ju uo na fu" #1 2 & "highest of the country".

@ §9 Fe HIT H "great” BT He T2 ?
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417




If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A # B" means A is the son of B

How is X related to Z from the given equation ?

XYz Z
(1) X is the grandsen of Z.
(2) Z is the grandson of X.

(3) Z is the father of X,
(4) Z is the mother of X

g "A@GB" w1 f2fF A BFI A E
"AB' w1t B A, BE U

"Az B'® sl A BFEE
gt EF MR R X F ZE T IEYE?

XzYsZ

(1) X, ZHumg |
(2 ZXF ORI
(3) Z.Xwfamg
(4) ZXH A@Z |

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

i # & e ar 3 yeud gEeis ol fem e & 2

(1) oy ey §Te

(2) H TTATS TS TUER TR

(3) & ud B @18

(4) oy gy wRiwH

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419




Seven dance students- T. U, V, W, X, Y and Z - are to give a performance, and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item, a solo ballet. In deciding the order of performance, the instructor must observe
the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third, what is the latest position m which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth

R WFIasE-T. U, VW.X. YIRZ-F & J@Rgacit IR otsl sl m vt st G er e snd g & mem &t
Bl UH WA 1 B - UF USd ad & w0 | | o &1 %8 Fuiiva s 99a 8es & g ufde= &1 geq s siferd g -

. X Ug% T gER H 9T U el ¢ gl |

X & wgf &9 9 ugd W R T8 S W |

AT T HRAE Y 96d 0 W TG ¢ GHa @ |

. W F g 918 Y 1 Z & I &A1 eFh |

.U & 30 950 a1 goa a8 § V S Weid o 91eq |

vy - afg U R 8 W wegf a1 & a Y Siuas $e gl & 9sar g ?
1) ofgd

(2) Tog

(3) g

(4) =l

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

R T

Sl. No.20
QBID:15550420

A country has seven major cities - A, B, C, D. E. F and G. Three flights labeled X, Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C, and passes through D only.
Flight Z has its ends at E and G. and passes through F only,
Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities ?
1) A
(2) C
3) B
(4) D




@%?WWW%-A.B. C.D.E.FsiRG. fotftn fmai s s i el sl smm A v s fmdsos e XL Y. Z
RUGEIEA

FTE X, A 3R C B oI5l § AR FI0 B ¥ 5% ol & |
TEAYFMBARC RENMN g Fa0 D | 51 Tosail & |

SM Z % RRE 3R G W E 3R 75 $a0 F F EFR Toedl ¢ |

T W BT T ST g1 e HE1 o 51 & for dfg H 9O 3f Suvd & O $i5 S} Tet el & |

T s T T s g A S Y AR R 931 & -
1) A

(2) C

3) B

4) D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676

(2) 476

(3) 578

(4) 576

AUCTION =15 % auil &1 frafl v & oafeua fvan o1 wwan 2, o 5 v v we @y ot 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 s.q. cm. Then volume of cube is...
(1) 289 em?

(2) 4913 em?

(3) 4931 em?

(4) 4319 cm?

U U &1 YETT 8Fa 1734 9 G4 8 a1 9 &1 SiaaA o arm 2

(1) 289 em?

(2) 4913 cm?

(3) 4931 em?

(4) 4319 cm?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23

QBID:15550423

If v 1 .then x2+y2
y 3 -y

1) 2
4




2) 4

3)

(4)

V9]
Bl |
|

et

a) ——

(2) -

3)

(4)

W e |

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield ¥ 81 of mterest at 4.5 % per annum of simple mnterest ?
(1) 4 years

(2) 5 years

(3) 3 years

(4) 6 years

F 450 & ¥R F R 4.5% vfved seRU e S R I TE F w9 H 7 81 Wk 9 F e wwg @ 2

() 4=d

(2 s5od

(3 3ad

4 6md

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23

(2) 17

(3) 40

(4) 30

7 HHITE SETS B ST 20 § O S99 B¢ ud SeY S0 §=0 1 4 e g 2
(1) 23

(2) 17

(3) 40

(4) 30

1[Option ID=31269]
2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:981514841

Which substance is used in grinding the lithographic stones?
(1) Plastic grit
(2) Iron grit




(3) Carborundum grit

(4) Zinc grit

JeHRY (RN ®) el &f foem & ford fohw want &1 SuaT far s &7
(1) wes fire

(2) g fre

(3) FrEved fire

(4) fvis fire

1[Option ID=30301]
2[Option ID=30302]
3[Option ID=30303]
4[Option ID=30304]

Sl. No.27
QBID:981514842

Which substance is used to retain water on non-drawing space for lithograph printing?
(1) Printing ink

(2) Gum Arabic

(3) Linseed oil

(4) Turpentine oil

TRV BUTE (erRImie fifeT) A 9T =\ W uFl & R W & 7Y Sy 1eRi &1 S9anT fEHar w67
(1) fufET 5=

(2) 77 fad

(3) el B TE

(4) TEAE T de

1[Option ID=30345]
2[Option ID=30346]
3[Option ID=30347]
4[Option ID=30348]

Sl. No.28
QBID:981514843

Oleograph is also known as-

(1) Screen Print

(2) Chine Colle

(3) Dry Point

(4) Chromolithograph

ACIRTE BT §9 B9 § A A AR e
1) %= fue

(2) fa5 el

(3) §¥ U<

(4) FHHITCTTITS

1[Option ID=30389]
2[Option ID=30390]
3[Option ID=30391]
4[Option ID=30392]

Sl. No.29
QBID:981514844

Which of the following i a hydrophobic medium used for drawing in lithography?
(1) Soft Pastel

(2) Glass marking pencil

(3) Acrylic colour

(4) 8B Pencil
fFrefeTiae d W STeHgE 0T STeRgRU (CRITUTH) § YWid- B Ygad (hal S+ Tl Serrl dedd Sl 87

1) Hige g
(2) voIg HifehTT Ufe

(3) TUmfered T




(4) g &t dfaa

1[Option ID=30433]
2[Option ID=30434]
3[Option ID=30435]
4[Option ID=30436]

Sl. No.30
QBID:981514845

Which print-making technique works on ‘immiscibility” of water and oil?

(1) Intaglio

(2) Aquatint

(3) Lithography

(4) Serigraphy

HIH] B0 da-iie wal AN ae @1 affsofEar «® a6 s%l 87
(1) TSI (Fwelierarn)

(2) TFarce

(3) EAgE (fermmsY)

(4) DREA TGS (FIATH)

1[Option ID=30477]
2[Option ID=30478]
3[Option ID=30479]
4[Option ID=30480]

Sl. No.31
QBID:981514846

Which base material is used for Lithography?
(1) Zinc

(2) Wood

(3) Lime stone

(4) Copper

ey (faRmeY) & o few qo wrEfl & S fear s 87
(1) T

(2) THs!

(3) T U

(4) e

1[Option ID=30521]
2[Option ID=30522]
3[Option ID=30523]
4[Option ID=30524]

Sl. No.32
QBID:981514847

Lithography is an example of-

(1) Relief printing method

(2) Planographic printing method

(3) Stencil printing method

(4) Intaglio printing method

AR & (RRIR®T) & 98890 € —
(1) F=mae ((eis) g faf

(2) WHTCRIG] (@I he) FaoT fafer
(3) wfter gaur fafer
(4) scfierar ggor fafer

1[Option ID=30565]
2[Option ID=30566]
3[Option ID=30567]
4[Option ID=30568]

Sl. No.33
QBID:981514848




Which type of mesh will be suitable for heavy textured Serigraphy?

(1) Fine mesh

(2) Coarse mesh
(3) Medium mesh
(4) Wire mesh

TS T UMTT gad WERTWT g SIW! wrelt ($e) Sugad s ?
(1) F8E AT (F)
(2) HIET Tl (F)
(3) Head wrell (He)
(4) TrIT el (He)

1[Option ID=30593]
2[Option ID=30594]
3[Option ID=30595]
4[Option ID=30596]

Sl. No.34
QBID:981514849

Which is the most important and positive aspect of Screen printing process?
(1) Cost-cutting

(2) Mass production

(3) Printing without high pressure on surface

(4) Option of multi-clolour printing

oI TUfET Uifhar &1 Hay Jgcayqyl AR HEHNEE Us DA 67
() TPTF H Fer

(2) 93 T 9T SeTEA

(3) W5 UY T=d S99 & fd=1 g0

(4) FE—T gEUT & famey

1[Option ID=30597]

2[Option ID=30598]

3[Option ID=30599]
4[Option ID=30600]

Sl. No.35
QBID:9815148410

Which substance is used to block the non-printable area of sereen m Serigraphy?

(1) Hard ground

(2) Photo-reactive emulsion

(3) Handmade paper

(4) Glue

T # ongevia £ &1 gaws e @ ol 59 uerl &1 ST fear o § 7

(1) FHoF Tas (TS TTSS)

(2) BE—Ufdcd SHEE THE—dAhan s9c9

(3) TEET TS
(4) e

1[Option ID=30305]
2[Option ID=30306]
3[Option ID=30307]
4[Option ID=30308]

Sl. No.36
QBID:9815148411

*Squeeze’ is a helping equipment used in-
(1) Intaglio

(2) Chine Colle

(3) Viscosity

(4) Serigraphy




Fofies (W) @ Weldd Sud0 @ U # SudnT féar & &—

(1) Seoimiaf (Scfieran) |
(2) 7 ot ®

(3) Tl (Fawrtae)
(@) FiEmeT |

1[Option ID=30309]
2[Option ID=30310]
3[Option ID=30311]
4[Option ID=30312]

Sl. No.37
QBID:9815148412

Which of the following artists has used Serigraphy as their main medium?

(1) Andy Warhol

(2) Jackson Pollack

(3) Willem De kooning

(4) Pablo Picasso

= 4 ¥ T senere T WIETE! B aUY 959 ARg9 @ 59§ uaT fear 27
(1) TET arsle

(2) SiFET Ui

3 foem 1 g

(4) urer fysra

1[Option ID=30313]
2[Option ID=30314]
3[Option ID=30315]
4[Option ID=30316]

Sl. No.38
QBID:9815148413

Serigraphy is also known as -

(1) Offset printing

(2) Halftone printing

(3) Silk-gcreen printing

(4) Relief printing

FATE! B 56 U F Y WA A oe-
(1) ATHHS HROT

(2) BB HaUI

(3) Taemd — 4= 7zm
(4) Trefie ggur

1[Option ID=30317]
2[Option ID=30318]
3[Option ID=30319]
4[Option ID=30320]

Sl. No.39
QBID:9815148414

An ideal ratio of solution (saturated ferric chloride solution, citric acid powder and warm water) for ‘Edinburgh Etch’ is-
(1) 1 litre, 200 grams, 10 litres

(2) 2 litres, 500 grams, 5 litres

(3) 1 litre, 500 grams, 7 litres

(4) 3 litves, 400 grams, 6 litres

2

T & & R 18 8% QU (W Bie Fss biel, AEfed (s Tresy o1 6ol T4 el & A0 &) &
(1) 1 =fiee, 200 9, 10 e

(2) 2 =flez, 500 I, 5 =T

(3) 1 =ficy, 500 9™, 7 <fieY

(4)




3 TIIeT, 400 T, 6 TicT

1[Option ID=30321]
2[Option ID=30322]
3[Option ID=30323]
4[Option ID=30324]

Sl. No.40
QBID:9815148415

Which ground can be used for experimental and tonal variations in etching?

(1) Hard ground

(2) Seoft ground

(3) White ground

(4) Liquid ground

feToT (TfRT) § 9OrTeRs U9 O @ fAfgear & ol SN TT9s & SudnT fhar W1 gadar 27
(1) BE ATSS

(2) dige Ires

(3) =|IEC TTSS

(4) ferfags TS

1[Option ID=30325]
2[Option ID=30326]
3[Option ID=30327]
4[Option ID=30328]

Sl. No.41
QBID:9815148416

Which is the best way to apply resin dust for aquatint?
(1) Applying by hand

(2) Dusting bag

(3) Aquatint box

(4) Spreading with spatula

Taarfee & ol I S @ @ watc afi@ e 87
(1) BRI F AT

(2) SRET 37 5

(3) Taarce sfad BT

(4) e H Berr

1[Option ID=30329]

2[Option ID=30330]

3[Option ID=30331]
4[Option ID=30332]

Sl. No.42
QBID:9815148417

What process is considered to be the most suitable for transferring the image on etching plate with hard ground?
(1) Direct drawing

(2) Carbon paper

(3) Pen drawing

(4) Pencil drawing

BT grae [HeTeur (UET) wie U Bfa RIAiG 94 @ (ol SId! Uihal Hay Sugad dH1 T2 87
(1) e B Wb BT

(2) FHE=T T

(3) U5 ¥ TEiET HIA

(4) tfge 9 e B

1[Option ID=30333]
2[Option ID=30334]
3[Option ID=30335]
4[Option ID=30336]

Sl. No.43
QBID:9815148418




Which ground is used in etching for direct impression of any object?

(1) Hard ground

(2) Soft ground

(3) Back ground

(4) Fore ground

ey (ofe) & fordfl 9%y &1 el AT UTW &9 B I TS @ S9arT fHar W 87
(1) BTE TS

(2) Hige s

(3) FHITSS

(@) BrEITEs

1[Option ID=30337]
2[Option ID=30338]
3[Option ID=30339]
4[Option ID=30340]

Sl. No.44
QBID:9815148419

What substance is used for polishing the etching plate?
(1) Vim

(2) Brasso

(3) Benzine

(4) Soft ground

T (UfeT) wic @1 TRem @ ford fohd uent &1 Suai fear o g7
(1) oo

(2) grar

(3) &=

(4) dHive a1ee

1[Option ID=30341]

2[Option ID=30342]

3[Option ID=30343]
4[Option ID=30344]

Sl. No.45
QBID:9815148420

The first step of preparing the ctching plate after cutting the metal sheet is-
(1) Applying ground

(2) Polishing

(3) Filing down

(4) Drawing

gTg @ ¥ie DI Sied & 918 UHT ®ic a1 H3F D W2H 990 5
(1) TS oFIEl

(2) THSBET

(3) WIFTErT BT

(@) e S

1[Option ID=30349]
2[Option ID=30350]
3[Option ID=30351]
4[Option ID=30352]

Sl. No.46
QBID:9815148421

Which metal is generally used for etching-

(1) Iron

(2) Aluminium

(3) Zinc

(4) Silver

AN T2 e (ofE) & R fw ang &1 93T e o &7
1)




e
() TegftTa
(3) Il

(4) =1y
1[Option ID=30353]
2[Option ID=30354]

3[Option ID=30355]
4[Option ID=30356]

Sl. No.47
QBID:9815148422

The basie characteristic of wood engraving is-

(1) Multicolour print

(2) Fine details

(3) Big size print

(4) Simplification

DG T IaH 10 (§8 THIT) @7 9a faggar & —
(1) 9gFfT e

(2) s fagor

(3) = N o fic

(4) \IfTHoT

1[Option ID=30357]
2[Option ID=30358]
3[Option ID=30359]
4[Option ID=30360]

Sl. No.48
QBID:9815148423

The waxy acid-resistant substance used m etching process is called-
(1) brayer

(2) burnisher

(3) aquatint

(4) ground

=eTTIoT (TR WithaT ¥ g oIkl " O garf $Eanr 5
(1) g

(2) gwe

(3) Tddree

(4) 7TSE

1[Option ID=30361]

2[Option ID=30362]

3[Option ID=30363]
4[Option ID=30364]

Sl. No.49
QBID:9815148424

Who created the monumental mural ‘Yayati’?
(1) Satish Gujral

(2) A. Ramachandran

(3) M. F. Husain

(4) Gulam Mohammed Sheikh

foenorea fafita fam oofo @1 Faw foee faar ?
(1) AT IO

(2) T IHTEA

(3) TH. UH. §o

(4) eI ABHE U

1[Option ID=30365]
2[Option ID=30366]




3[Option ID=30367]
4[Option ID=30368]

Sl. No.50
QBID:9815148425

Which one is the oldest form of print making?
(1) Serigraphy

(2) Lithography

(3) Offset

(4) Woodcut

i #Af$T o1 WaW AT WEY HITEl 87

(1) DI eifgaT (@IATH)

(2) THERE0T (ferermasT)
(3) fmwe
(4) DIETDT (JESFT)

1[Option ID=30369]
2[Option ID=30370]
3[Option ID=30371]
4[Option ID=30372]

Sl. No.51
QBID:9815148426

*V* Gauge tool is used in -

(1) Serigraphy

(2) Linocut

(3) Lithography

(4) Etching

AT 9SSl B FET T 4 W fewe fere fear Wi 8 ?
(1) DI RGBT (FHITTE)

(2) oM@

(3) THERE0T (ferermams)

(a) e (gfe)

1[Option ID=30373]
2[Option ID=30374]
3[Option ID=30375]
4[Option ID=30376]

Sl. No.52
QBID:9815148427

Which one is the example of relief print technique?
(1) Serigraphy

(2) Lithography

(3) Offset

(4) Linocut

(1) =rE weE

(2) ww=ge ferimmsg

(3) iwEe

(4) fo=re

1[Option ID=30377]
2[Option ID=30378]
3[Option ID=30379]
4[Option ID=30380]

Sl. No.53
QBID:9815148428

The earliest surviving classical mural painting in India can be found at -

(1) Bhimbetka
(2) Ajanta




(3) Mirzapur

(4) Chakradhpur

T § 9o TEIAGE deiiaa T e 5 W 9 § —
(1) Agedr #

(2) arofar |

(3) Fag

(4) THETGT H

1[Option ID=30381]
2[Option ID=30382]
3[Option ID=30383]
4[Option ID=30384]

Sl. No.54
QBID:9815148429

Which region in Rajasthan is known as ‘Open Art Gallery’?

(1) Hadoti

(2) Marwar

(3) Mewad

(4) Shekhawati

TRIE & 6 & & e o el & A9 § W W 87
(1) sSE

(2) HIHOrE

(3) Hars

(4) srgracy

1[Option ID=30385]
2[Option ID=30386]
3[Option ID=30387]
4[Option ID=30388]

Sl. No.55
QBID:9815148430

Out of the following who is a famous muralist -
(1) Diego Rivera

(2) Frida Kahlo

(3) Monet

(4) Kandinsky

ferferRad 4 & & ufirg g fEer § °
(1) g fga

(2) fiFeT @TEa

(3) F+

(4) Ffz==r

1[Option ID=30393]
2[Option ID=30394]
3[Option ID=30395]
4[Option ID=30396]

Sl. No.56
QBID:9815148431

Out of the following which art work is an example of Mural painting -

(1) Bani Thani
(2) The Scream
(3) Views of Mount Fuji

(4) Padmapani Bodhisattva

FAfeIgT # 9 Sl Sendia (e 99 T IETE 87
(1) quii—gufy

(2) T WA

(3) AISE Uil & 5




(4) =morfoT e

1[Option ID=30397]
2[Option ID=30398]
3[Option ID=30399]
4[Option ID=30400]

Sl. No.57
QBID:9815148432

Which painting surface is considered to be ideal and long lasting -
(1) Wood

(2) Paper

(3) Wall

(4) Canvas

DA faada aned o Sdarfas Jm w87

(1) DI

(2) DI

(3) fifed

4) He|

1[Option ID=30401]
2[Option ID=30402]
3[Option ID=30403]
4[Option ID=30404]

Sl. No.58
QBID:9815148433

First step of painting on wooden surface is -
(1) Line Drawing

(2) Colour Filling

(3) Priming

(4) Polishing

DG & Fas T =0 @ R 990 8-
(1) rEiEHe

(2) e

(3) ITETT BIEIAT

(4) THSDIAT

1[Option ID=30405]
2[Option ID=30406]
3[Option ID=30407]
4[Option ID=30408]

Sl. No.59
QBID:9815148434

Which pencil is generally NOT used for sketching?
1) 2-B

(2) 2-H

(3) 4-B

(4) 6-B

ARl feE UfHe &1 g W & o 75 fear ar 89
(1) 2—=1

(2) 2-Ud

3) -

(4) 631

1[Option ID=30409]

2[Option ID=30410]

3[Option ID=30411]
4[Option ID=30412]

Sl. No.60
QBID:9815148435

What is the use of *‘Sanguine’?
(1) Tracing
(2)




Drawing
(3) Painting
(4) Embossing

ST @ I SUAT 87

(1) I
(2) FiHT
(3) fe=me
(4) THEEITHT

1[Option ID=30413]
2[Option ID=30414]
3[Option ID=30415]
4[Option ID=30416]

Sl. No.61
QBID:9815148436

Proportion is also called -

(1) Law of Relationship

(2) Law of Symmetry

(3) Law of Decoration

(4) Law of Simplification
AT B T8 1 FET AT E—
(1) wEET B g

(2) wHEUA B THg

(3) |ou &I fagEr

(4) HICHHI B FHET=

1[Option ID=30417]
2[Option ID=30418]
3[Option ID=30419]
4[Option ID=30420]

Sl. No.62
QBID:9815148437

The principle that governs the movement of the eye from one part or unit of a design to another 1s known as -

(1) Harmony

(2) Rhythm

(3) Unity

(4) Dominance

a5 fagEra o (5! feus & @ 91 a1 fEus" &1 1@ soE § guY 0o g 1 g @ Faf=a o3 8, $sema 5—
(1) wHTHE

(2) "dle

(3) Umdl

(4) gHTfaar

1[Option ID=30421]
2[Option ID=30422]
3[Option ID=30423]
4[Option ID=30424]

Sl. No.63
QBID:9815148438

Dominance in a composition can be achieved through -
(1) Repetition
(2) Symmetry

(3) Decoration
(4) Simplification

U% GOIaH ¥ uIiaar e @1 W 9adl a—
(1) STEIT &1

(2) HHE®EUTAT BT




(3) Wl 5T
(4) HIe[ThIUT gl

1[Option ID=30425]
2[Option ID=30426]
3[Option ID=30427]
4[Option ID=30428]

Sl. No.64
QBID:9815148439

Which one is not a principle of composition ?
(1) Unity

(2) Rhythm

(3) Texture

(4) Balance

PHITAT WA @ fHgra a81 & 7

(1) Todl

(2) Udrg

(3) U

(4) Hge™

1[Option ID=30429]
2[Option ID=30430]
3[Option ID=30431]
4[Option ID=30432]

Sl. No.65
QBID:9815148440

Which type of brush is used for soft mixing effect?
(1) Flat Brush

(2) Round Brush

(3) Filbert Brush

(4) Fan Brush

g et & v & ol fovw @ & g9 @ 9a fear w89
(1) WIT gu

(2) ISTS g

(3) fperee gor

(4) BT gar

1[Option ID=30437]
2[Option ID=30438]
3[Option ID=30439]
4[Option ID=30440]

Sl. No.66
QBID:9815148441

Nowadays which paint is used for priming a canvas?

(1) Enamel Paint

(2) Plastic Emulsion Paint

(3) Silver Paint

(4) Black Board Paint

APl HATH B WEHET & ford fow e @1 warT foar T 87
(1) 3Ha 99

(2) WM SHEM

(3) fleas o1

(@) =@ 8E I

1[Option ID=30441]
2[Option ID=30442]
3[Option ID=30443]
4[Option ID=30444]

Sl. No.67
QBID:9815148442




Which paper is used for oil painting?

(1) Vazali Paper

(2) Handmade Paper

(3) Ivory Paper

(4) Oil Sketching Paper

del fe=or & ford forw @rTa &1 9ai faan & 87
(1) Tl ST

(2) EIHHT BITA

(3) IEEd I

(4) ATge T S

1[Option ID=30445]
2[Option ID=30446]
3[Option ID=30447]
4[Option ID=30448]

Sl. No.68
QBID:9815148443

In which colour, retarder medum is used?
(1) Qil Colour

(2) Water Colour

(3) Acrylic Colour

(4) Pastel Colour

o 977 #, Haw ARgR © yAE fear o 87
(1) e 77

(@) el 97

(3) umftrer I

(4) e I

1[Option ID=30449]

2[Option ID=30450]

3[Option ID=30451]
4[Option ID=30452]

Sl. No.69
QBID:9815148444

In which colour, gel medium is used?
(1) Acrylic Colour

(2) Oil Colour

(3) Water Colour

(4) Pastel Colour

| 37 H, Sfel ARgd BT 9O G o &7
(1) Tmfee I

(2) e 97

(3) oer 917

(4) gwee 9

1[Option ID=30453]

2[Option ID=30454]

3[Option ID=30455]
4[Option ID=30456]

Sl. No.70
QBID:9815148445

Painting done on fresh plastered wall is known as-

(1) Fresco Secco

(2) Fresco Buono

(3) Tempera

(4) Wash

T GeTer? BT T8 AN W fFar 7 fEnes s 8-
(1) THTRT Fhr




(2) H¥RT A

(3) T
(4) TET

1[Option ID=30457]
2[Option ID=30458]
3[Option ID=30459]
4[Option ID=30460]

Sl. No.71
QBID:9815148446

Traditionally what substances were used for Fresco Bouno Painting n India?
(1) Metal Colour

(2) Water Colour

(3) Earth Colour

(4) Chemical Colour

A UIEEITT 9 ¥ B! 997 e $ o e I @1 warT fear o o
(1) =g I

(2) 1 97

(3) @iar 771

(4) TS 9T

1[Option ID=30461]

2[Option ID=30462]

3[Option ID=30463]
4[Option ID=30464]

Sl. No.72
QBID:9815148447

Sable brushes were considered ideal for painting with-
(1) Pencil Colour

(2) Water Colour

(3) Qil Colour

(4) Pastel Colour

HETl g9 DI fhw e @ ford ameet A W o ?
(1) Hfger 7

(2) el T

(3) e I

(4) Twee T

1[Option ID=30465]

2[Option ID=30466]

3[Option ID=30467]
4[Option ID=30468]

Sl. No.73
QBID:9815148448

Which medium is most suitable for quick outdoor Painting?
(1) Water Colour

(2) Oil Colour

(3) Tempera Colour

(4) Pastel Colour

deTel ATSCS? fo=0T &g DiFw AROd Wed 9ugad &7
(1) Fer 97

(2) el 3

(3) TEr I

(4) Tecel 9T

1[Option ID=30469]
2[Option ID=30470]
3[Option ID=30471]
4[Option ID=30472]

Sl. No.74
QBID:9815148449




Generally white colour is not used in which Painting process?
(1) Pencil Colour

(2) Oil Colour

(3) Water Colour

(4) Pastel Colour

AmETgaaT few Reor ugfy § w49 9 @1 vt gt fear @ 87
(1) Yfmer 97

(2) o I

(3) el I

(4) T I

1[Option ID=30473]

2[Option ID=30474]

3[Option ID=30475]
4[Option ID=30476]

Sl. No.75
QBID:9815148450

Which part of eye perceives only black and white colour?
(1) Retna

(2) Cones

(3) Rods

(4) Iris

(1) ¥fesr

(2 ¥q

(3) Tlelldl

(4) e
1[Option ID=30481]
2[Option ID=30482]

3[Option ID=30483]
4[Option ID=30484]

Sl. No.76
QBID:9815148451

Which painting medium does not have any vehicle for pigment?
(1) Water Colour

(2) Oil Colour

(3) Poster Colour

(4) Pastel Colour

B 2= Aread § oo & 7 B3 a5 8T U A 27
(1) el 3T

(2) T I

(3) UrET I

(4) e T

1[Option ID=30485]

2[Option ID=30486]

3[Option ID=30487]
4[Option ID=30488]

Sl. No.77
QBID:9815148452

Fixative is generally used in -
(1) Oil Painting

(2) Water Colour Painting
(3) Pastel Colour Painting

(4) Fresco Painting

RIS (faafeT) amade o2 Tgad fHar o & —
Q) oo e §




(2) Tier 97 fREwT #
(3) e 9 frmwr §
(4) fafeq fer=or 4
1[Option ID=30489]
2[Option ID=30490]

3[Option ID=30491]
4[Option ID=30492]

Sl. No.78
QBID:9815148453

Which surface is most suitable for Pastel Painting?

(1) Ivory Paper

(2) Cloth

(3) Plastered wall

(4) Handmade Paper

Teeel fEied @ o Sl Was wed Jfte SugE 87

(1) T BETA

(2) Pl

(3) TeTE & T8 S
(4) TEEHT ST
1[Option ID=30493]
2[Option ID=30494]

3[Option ID=30495]
4[Option ID=30496]

Sl. No.79
QBID:9815148454

Which one is not considered as the quality of colour?
(1) Value

(2) Warmth

(3) Hue

(4) Saturation

fefafaa § & 9 W 37 & o1 T81 A A 67
(1) H1

(2) FWTAT

3) T

(4) HYACI

1[Option ID=30497]

2[Option ID=30498]

3[Option ID=30499]
4[Option ID=30500]

Sl. No.80
QBID:9815148455

How many colours were there in Colour Wheel proposed by Prof. Ostwald?
(1) Eight

(2) Twelve

(3) Six

(4) Seven

Ul dlvcdies 5191 a9 =@ H foae 97 91 ?

(1) TS

(2) 918

(3) Br

(4) 919

1[Option ID=30501]
2[Option ID=30502]
3[Option ID=30503]
4[Option ID=30504]

Sl. No.81
QBID:9815148456




Which process is used for drawing on Fresco Buono surface?
(1) Pencil Tracing

(2) Brush Drawing

(3) Charcoal Tracing

(4) Pastel Drawing

P! A1 90T 92 e @ ford fhd UERAT @1 SUArT fdr ST o 7
(1) ufge g

(2) g9 9 WidA
(3) TSI CHET
(4) TREE TEET
1[Option ID=30505]
2[Option ID=30506]

3[Option ID=30507]
4[Option ID=30508]

Sl. No.82
QBID:9815148457

Which type of an ideal roller should be used for inking the etching plate?
(1) Hard and equal in size of the plate

(2) Soft and bigger in size of the plate

(3) Soft and smaller in size of the plate

(4) Hard and bigger in size of the plate

TRAT @IE U2 5% S oF Ugad MEE e ST g aney 7

(1) TR AN T & ABE B FIEY

(2) HolrgH 3T wic ¥ AT H g

(3) HormaA 3N wie & AR ¥ Biel

(4) Tor 3N ®IT & TSN ¥ T

1[Option ID=30509]
2[Option ID=30510]
3[Option ID=30511]
4[Option ID=30512]

Sl. No.83
QBID:9815148458

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The colours having lesser wave length are identified as cool colours.
Reason R: Cool colours have receding effect.

In the light of the above statements, choose the most appropriate answer from the options given below-
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

< 21 T T T € U@ affeR (Assertion A) & WU H fafga € offT EY SUS @17 (Assertion R) & WU H

AT A BH TET oIS drel W B ©S 997 & ©9 § UggEl 9@ 8 |

@l R: efiaer 37 gl 99 gae 8 © |

TWIad A @ ATeld H, A &l v fawedl # W 798 gvger SwE @ 999 it
(1) AR R I WA € AR R, A @) HE ARAT & |

(2) A 3T R Tl W@ £ offo R, A B HET @ F87 2 |

(3) A WU § offT R a0 §

(4) AW & offT R W § |




1[Option ID=30513]
2[Option ID=30514]
3[Option ID=30515]
4[Option ID=30516]

Sl. No.84
QBID:9815148459

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: There are majorly three techniques of Mural Painting.

Reason R: Wash Painting is a famous technique of Mural Pamting.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

= T T Al T e afNeRA (Assertion A) T WY H i € offT gHY SWS BT (Assertion R) & WU H
aftraea A fafes fafes & @8 w0 9 &9 dede © |

@07 R arer FEne, iy fares &1 ufag dod1e 81

TR T B Aehe H, e &l 77 fOeedl § 9 7@8E ovge 9wl @ 99 DIl
(1) AT R I W § oW R, A @7 WET AT B

(2) A 3T R <4 |0 € oife- R, A &7 WeT arer =81 & |

(3) A W0 ® WifeT R a0l B |

(4) A § offT R §0 §

1[Option ID=30517]
2[Option ID=30518]
3[Option ID=30519]
4[Option ID=30520]

Sl. No.85
QBID:9815148460

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Linocut is the simplest way of print-making.

Reason R: Basic print-making is taking impression of an embossed surface.

In the light of the above statements, choose the most appropriate angwer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

SR 1 T R T § U@ AR (Assertion A) & WU H fifiga € offT HY SHSG HVT (Assertion R) & WU H

JAfeR A ofFiee Ba—E0 957 4aW Wi doie £ |

B R e TU § G250 & SHIIRTE §aE @ BT o © |

Wi Ul @ ATelie ¥, " (&3 10 faocdl § W #aiEe gugead 9wl @ 9+ Dihdal—
(1) A 3T R <1 WD € 3 R, A & WET @ B |

(2) A 37 R ST 9@ € ©ifT R, A &7 Wl saren 81 8 |

(3) A ¥cg B °fT R el B |

(4) A rwcd B °ffdT R W B

1[Option ID=30525]
2[Option ID=30526]




3[Option ID=30527]
4[Option ID=30528]

Sl. No.86
QBID:9815148461

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: In order to reuse the stone for lithography. it is needed to remove the image drawn on it.
Reason R: Grinding helps in the removing the old image.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

T < 7 il T & U affeR (Assertion A) & w0 H forlgd 8 offT WY 9HS @Y7 (Assertion R) & w7 H
AR A RS & TR & [7 SUAiT B9 & [0, 9 W S TS Ui Bl T &1 ATeel Bl §© |
H07 R Fow 1 B0 &1 8 4 Herd& 8Ial & |

IWITd Al S AelD A, A & U faedl § § 7@EE ougad Swil ® 99 Hihial—
(1) A 2T R I Wea € 3T R, A @1 WET @ & |

(2) A 3T R ST W@ ¢ oife= R, A &) WY @ E1 2

(3) A ¥ € ©ife R oW |

(4) A 56 © ofdT R W69 & |

1[Option ID=30529]
2[Option ID=30530]
3[Option ID=30531]
4[Option ID=30532]

Sl. No.87
QBID:9815148462

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: “Fresco Buono® and ‘Fresco Secco’ are examples of Tempera technique.
Reason R: Tempera is used for Painting on walls.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

I 31 T 8 T B U e (Assertion A) & w0 H fIRAT © oY §HY SHd U (Assertion R) @ WU H

AfHUT A2 HWDT A AR BRI WPl T T B IEE0 § |

HNU R © TR &1 SUarT i = &g far o o

T HEl @ ATe® |, A @4 7Y AFl § 9 @eite 9ugad 9wl &1 aa difeg—
(1) A AW R SHl 9T € W R, A & FEl @R B |

(2) A 3T R ST U § o R, A @7 WET ar T8l £

(3) A HeT £ olfdhd R I799e B |

(4) A 9 € oifed R 94 ©

1[Option ID=30533]
2[Option ID=30534]




3[Option ID=30535]
4[Option ID=30536]

Sl. No.88
QBID:9815148463

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Spatula is an important tool for oil painting.
Reason R: Tt is used for mixing colours on pallete.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

T < 7 il T & U affeR (Assertion A) & w0 H forlgd 8 offT WY 9HS @Y7 (Assertion R) & w7 H

JftreRra A tel e § Sger te Aecgl SYHI ¢ |

®E R foie 7 3 o & o1l sHer SuanT fear @ & |

IWITd Al S AelS 4, A & 70 f@edl § ° 79Ee gugad 9w & 99 Hihdal—
(1) A T R I Wea € 3T R, A @1 WET @ & |

(2) A 3T R ST W@ ¢ oife= R, A &) WY @ E1 2

(3) A ¥ € ©fe R oW |

(4) A 56 © ofdT R W69 & |

1[Option ID=30537]
2[Option ID=30538]
3[Option ID=30539]
4[Option ID=30540]

Sl. No.89
QBID:9815148464

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: In a multicolour print-making process we need to put the matrix on the same place.
Reason R: Registration is very helpful in taking multicolour prints in print-making process.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

W 3T TR R T T U AR (Assertion A) D WU H IRGT § oW §HY SH@ U (AssertionR) & WU H

Afer A IgTT BI—fEmT Uik # Hel e B 99 WM Y ReET 56 6

H R : FEEI B0 uftpan | fie oW d ITee Jcafes 98fd 86 ¢ |

Judldd HUEI @ Al H, i 28 ¢ fAdheul § W wWalfie 9ygdn Swid B g Sifey—
(1) A JN R S 99 & ¥ R, A @ W8l &R § |

(2) A JIT R SFI 97 £ @i R, A @I F8] IREm =81 & |

(3) A 97 § Tl R 27994 T |

(4) A Hcg § oIfhd R 920 2|

1[Option ID=30541]

2[Option ID=30542]

3[Option ID=30543]
4[Option ID=30544]




Sl. No.90
QBID:9815148465

Given below are two statements:

Statement I: ‘Fresco Buono’ and ‘Fresco Secco’ are examples of Tempera technique.
Statement II: ‘Fresco Secco’ is more permanent than ‘Fresco Buono’.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is mcorrect
(4) Statement I is incorrect but Statement II is correct

1 a1 PeE el T g

DU H¥eh! A1 AN HEh] WHT TR Toh-ld & S8 § |

DU L HEh] Fhl, Hedl g1 | Al R B |

TUIET U @ ATe® |, 1 33 7Y el ¥ § weifte 9ugen Swil o 9a it
(1) IET FFE AT FRE I 81

(2) EET F2F 137 5 1137 © |

(3) T2 [T & oifepd B2 A &1

(4) T2 1 A5 © ol 2= [ Hed § |

1[Option ID=30545]
2[Option ID=30546]
3[Option ID=30547]
4[Option ID=30548]

Sl. No.91
QBID:9815148466

Given below are two statements:

Statement I: Only black and white colours are used in achromatic colour scheme.
Statement II: Achromatic colour scheme is also called triad colour scheme.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is mcorrect
(4) Statement I is incorrect but Statement II is correct

B R R C T AT
A1 - aguiTg 997 I H Sael el 3T WhE T S 5O fedr W B |
&2 11 : arguffg 997 greem @ ==Y 99 graAr W el W@ g |

W Al S ARNS A, A & U e § 9 70Ee ouga e @ 99 DHifial—
(1) IET 13T F= 1 Ee B |

(2) =7 w2 1w w11 argeg § |

(3) T 1 90 & oifed o 11 owed B

(4) T 1 W € e e 1 9 ©

1[Option ID=30549]
2[Option ID=30550]
3[Option ID=30551]
4[Option ID=30552]

Sl. No.92
QBID:9815148467




Given below are two statements:

Statement I: Vertical lines and horizontal lines complement each other.
Statement II: Joining lines create contrast between these lines.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is mcorrect
(4) Statement I is incorrect but Statement IT is correct

T T R
A1 TrEad T o St W e W B T oo B
FRME I Fdiws W 39 e & 95 NI 99 el §

IWET TEl B e |, A &l T fGed § 9 g9ee ovgeT 9add B 98T Dia—
(1) THT PE1HT ZEIEE £

(2) THT T 137 7= T ©

(3) T2 1T & oifpd eE I amae § |

(4) 1w § oifed EIEa § |

1[Option ID=30553]
2[Option ID=30554]
3[Option ID=30555]
4[Option ID=30556]

Sl. No.93
QBID:9815148468

Given below are two statements:

Statement I: Applying a thin coat of glue on canvas cloth protects it from direct contact with oil.
Statement II: This process is called *sizing’.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

R a1 PeE e T g

TR D S HUS W TR BT Ul UG A | TE ol D AR HHOS H GUerd 6 ©

D 11 : 59 UlhdT & “HSfoiT Hel 9l 5

TUIET U @ ATe® |, 1 33 7Y el ¥ § weifte 9ugen Swil o 9a it
(1) THET FFI1AT FRE I EE & |

(2) SFI FUF 137 TUF D39 & |

(3) T 19 & olfehsT B2 13T & |

(4) TRFEI1ITE B oifhT SLFI AT &

1[Option ID=30557]
2[Option ID=30558]
3[Option ID=30559]
4[Option ID=30560]

Sl. No.94
QBID:9815148469




Given below are two statements:

Statement I: Balance in a composition can be achieved easily through symmetrical arrangement of forms.
Statement II: Symumetrical arrangement of forms is the only way to achieve balance in a composition.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is mcorrect
(4) Statement I is incorrect but Statement IT is correct

9/ 5 e 5 B
U] A § W0 B AAMHT FawRT 519 ATEFT 9 G U fhar 9 Wed & |
oA 11 §aee H Sged U S & UF A 61 Wl &) GEHd @aell € B

IWET TEl B e |, A &l T fGed § 9 g9ee ovgeT 9add B 98T Dia—
(1) THT PE1HT ZEIEE £

(2) TET T 13T 7= oW ©

(3) T2 1T & oifpd eE I amae § |

(4) 1w § oifed EIEa § |

1[Option ID=30561]
2[Option ID=30562]
3[Option ID=30563]
4[Option ID=30564]

Sl. No.95
QBID:9815148470

Given below are two statements:

Statement I: Etching is a print-making technique involving chemical process.
Statement II: Engraving is done with nitric acid.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct

R a1 PeE e T g

TR 1 U, TR Uihar Jad BT fEn & U a@id 6 |

T 11 U=IfaT AEfes ofEs gm fdhar Wi B |

TUIET U @ ATe® |, 1 33 7Y el ¥ § weifte 9ugen Swil o 9a it
(1) THET FHIAT FRFE I EE & |

(2) SHI FUF 137 FUF DI9F & |

(3) T 19 & olfehsT B2 1T & |

(4) TRFEIIEE B oifhT SLFI AT &

1[Option ID=30569]
2[Option ID=30570]
3[Option ID=30571]
4[Option ID=30572]

Sl. No.96
QBID:9815148471




Given below are two statements:

Statement I: Aquatint is an etching method that uses areas of tone rather than lines and cross-hatching.
Statement II: Aquatint is done with resin.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is mcorrect

(4) Statement I is incorrect but Statement II is correct

b R it B i
e I gEaree, Meame (of) @ ua fiar § s e o) sia—af o eier 99 891 o1 9uanT G 9w g

e 11 : veaniee 9= (3RTE) 5T firar = £

ToRIgT TRl & JiEE A" 23 Ty Aot ¥ § weite Sugen Sew @ 909 Sie—
(1) == gem [ o o I = 2

(2) == @ [ 2w o 1T areeg )

(3) o I wew & wifars o 11 amaeg 2

(4) == | a9y € =fes === 1 9= 2

1[Option ID=30573]

2[Option ID=30574]

3[Option ID=30575]
4[Option ID=30576]

Sl. No.97
QBID:9815148472

Given below are two statements:

Statement I: Etching print technique works on the principle of holding ink in small grooves.
Statement II: Aquatint increases the ink holding capacity of the printing plate.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is mcorrect
(4) Statement I is incorrect but Statement IT is correct

9/ 5 e 5 B
A1 T fiie qeite BIc TiEl (o8) 9 7 59 @ fHgra T & S5 B |
oA 1 : aaiiee & U fifeT wic &1 29 9N $99 &) &Hal 96 Widl § |

IET TEl $ e 1, A &l T fGed § 9 g9ee ovgeT 9ol B 99 Dial—
(1) THT PEI1HET ZFIEE £

(2) TET T 13 7= Do ©

(3) T2 1T & oifpd eE I amae § |

(4) FF1aTE & o RFITE & |

1[Option ID=30577]
2[Option ID=30578]
3[Option ID=30579]
4[Option ID=30580]

Sl. No.98
QBID:9815148473

Given below are two statements:

Statement I: The lime stone is kept wet while taking print in lithography process.
Statement II: The paper is also needed to be damp for printing in lithography process.

In the light of the above statements. choose the most appropriate answer from the options given below




(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are ncorrect
(3) Statement I is correct but Statement IT is mcorrect
(4) Statement I is incorrect but Statement IT is correct

b R it B i

zr 1 @ aremmeer ferimmdiis widrar 3 ffe o0 997 997 URE o1 el I @ g |

== 11 avagEeT feRimdE uiar 3 o @ oSS @ W 79 BT 19T B

TG TREl @ A H, A" 5 Y feedl § ¥ Faiie Sugad 9wl @ 9aq iug—
1) == wem [ ofw oo I 5 2

(2) == g [ o) oo I o §)

(3) = I wem & offew wem I o 3

(4) =om ] o9 © @fdm =2 1l v 3

1[Option ID=30581]

2[Option ID=30582]

3[Option ID=30583]
4[Option ID=30584]

Sl. No.99
QBID:9815148474

Matech List I with List IT

ListI List IT

1A |[Monochromatic Colours [I. Fed. Green
B. |Complementary Colours[lI. [Red. Pink
C. |Warm Colours M. |Green, Blue
D |Cool Colours V. [Red, Orange

Choose the correct answer from the options given below:
(1) A-L B-IL C-III, D-IV
(2) A-IL B-IL, C-IV, D-III
(3) A-III, B-I C-II. D-IV
(4) A-IV, B-III, C-II. D-I

Tt | &1 = 1l & ARl gAfkE Bifo—

gl 1 g4 1
A | THauiE T [ [eTmer, 97
B. [q¥& ¥ [T [CTTel, TeTTel
C. [Fwr I 111 [597, =ien
D. [gfider 37 TV, [cTTel, =l

e R T Rt F & wE S gRC
(1) A-L B-II, C-III, D-IV

(2) A-IL B-1, C-IV, D-II

(3) A-III, B-I C-II., D-IV

(4) A-IV, B-1II, C-II, D-I

1[Option ID=30585]

2[Option ID=30586]

3[Option ID=30587]
4[Option ID=30588]

Sl. No.100
QBID:9815148475




Match List T with List IT

ListI List IT
1A [Tusche ink 18 intaglio
B [Exposure 1. [Lithography
C.  [Deep bite 111 |Aquatint
D. [Resin V. [Serigraphy

Choose the correct answer from the options given below:
(1) A-II, B-I, C-III, D-IV
(2) A-II, B-1V, C-I, D-III
(3) A-II, B-I C-II., D-IV
(4) A-IV, B-III, C-II. D-1

AT 1 DI gl I & |Rl gaferd sifu—
ol 1 A 1

A [gu 5@ [ [Eciaar

B [so<qurae 1 (oIS

C. [E1 93¢ 111 [TerTee

D. [ofa= TV, [T

1 R T Rwedt § ¥ wE 9o IR
(1) A-II. B-I, C-III, D-IV

(2) A-II, B-IV, C-I, D-III

(3) A-III, B-I C-II. D-IV

(4) A-IV, B-III, C-II, D-I

1[Option ID=30589]

2[Option ID=30590]

3[Option ID=30591]
4[Option ID=30592]




